Vil-lesson 12

Estimate and then solve. Model the problem with a tape diagram. Explain if your answer is reasonable.

1. There were 4,806 more visitors to the zoo in the month of July than in the month of June. June had 6,782
visitors. How many visitors did the zoo have during both months?

6,782 \
- A < {  Since the problem states the relationship
Fne between June and July, | can draw two tapes.
_— 4 | make July’s tape longer because there were
Fudy more visitors inJuly. | partition July's tape
into two parts: one part for the number of
4,606 people in June and the other part for
4,806 more visitors,

S

About how many visitors did the zoo have. during June and July?

7,000 + 7,000 + 5,000 = 19, 000 To estimate the total, | round each

The zoo had about 19, 000 visitors during June and July. number to the nearest thousand
and add those numbers together.

Exactly how many visitors did the zoo have during June and July?

6, 7 8 2 When | look at my tape diagram, | see that | don’t have
6 7 8 2 to solve for July to find the total: This saves me a step.
+ 4 8 0 6 |
7 SNE N
t 8 3 7 @

The zoo hod exactly 18, 370 visitors during June and Jufy.

Is your answer reasonable? Compare your estimate to the answer. Write a sentence to explain your
reasoning.

Sample Response: My onswer is reasonabie becouse my estimote of 19,000 s only about 600
more than the octual answer of 18, 370. My estimote s greater than the actual answer hecouseé !
rounded each addend up to the next thousend.
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Emma’s class spent four months collecting pennies.

a. During Month 3, the class collected 1,211 more
pennies than they did during Month 2. Find the total
. . 4,987
number of pennies collected in four months.
2 8,709
mMenth1 | 4,987 h 2
fMonth 2 8,709 1,211 4 8,192
7~ p
Month 3 8,709
1 draw four tapes to represent each
month. Now, | can see how many
Month 4 8,192 pennies were collected in Month 3.
o
5, 800-+9,0600+ 90060+ 4,000+ 8 000 =32 000
4, 9 8B 7
8 7 0 9 Jadd in unit form: 5 thousands + 9 thousands
8 7 ¢ © + 9 thousands + 1 thousand + 8 thousands = 32
’ thousands. 32 thousand is an estimate of the
L2 1 1 total number of pennies collected in-four months.
+ 8 1 9 2
L -t
3 &, 8 4§ B

b.

\\

To find the total pennies coliected in the four
months, | could solve for Month 3 and then add all
of the months together to solve for P. Instead, |
just add the value of each of the tapes together.
The tape diagram shows me how to solve this in
one step, not two.

The totel number of pennies coflected
in four months wos 31, 808,

J

Is your answer reasonable? Explain.

Sample Response: My answer is reasongble. 31,808 js only about 200 less thon the estimate of
32,0840,
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